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QUESTION 1

A company has numerous LPARs hosting database servers, and three versions of the DBMS deployed in the
environment. A critical APAR fixes data corruption for one version of the database, but it requires a server reboot. The
only inventory information available is a spreadsheet with every LPAR\\'s hostname and root password. 

Which sequence of tasks will determine which servers are missing the critical APAR, and only apply it to the servers
running the affected level of the database? 

A. Use the spreadsheet to populate the /etc/hosts file on the management node. Configure a NIM server that has the
APAR in an lpp_source. Force-register all of the LPARs with the NIM server. Use NIM group operations to install the
APAR and boot at a scheduled time. 

B. Use the spreadsheet to create a dsh node list. Use dsh with Islpp to create a node list for LPARs needing the APAR.
Use dcp and dsh to install the APAR and reboot. 

C. Configure a Systems Director server using the spreadsheet import function. Use the inventory function to discover
the database level and APAR status. Use the Update Manager to apply the APAR to the affected LPARs and reboot. 

D. Use the spreadsheet to create a dsh node list. Use dcp and dsh to install the APAR. Use dsh to reboot the systems. 

Correct Answer: B 

 

QUESTION 2

When updating a device attribute utilizing the -P flag with the chdev command, which of the following is true? 

A. The device attribute will be updated for the parent of the device specified. 

B. The device attribute is updated forcibly and will result in the device changing to the defined state. 

C. The device attribute is updated immediately and will not be maintained after the next system boot. 

D. The device attribute is updated only in the ODM and does not take affect until after the next system boot. 

Correct Answer: D 

 

QUESTION 3

A user wants to run a batch job repetitively, but requires that each invocation starts five hours after the previous run
finishes. What strategy will accomplish this? 

A. Create a wrapper script that launches the job in the background and then sleeps for the designated period before
launching it again. 

B. Submit the job with \\'at\\', using the average run time of the job plus five hours as the interval. 

C. Add an entry to the crontab to submit the job every five hours. 

D. Create a file containing the job commands, using the \\'at\\' command as the final line of the file. 
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Correct Answer: D 

 

QUESTION 4

The administrator cannot ping the hostname of any system on the local network, including LPARs in the same managed
system that have virtual Ethernet adapters configured on the same subnet and VLAN. What is the most likely cause of
this problem? 

A. The Ethernet cable from the system to the switch is disconnected or faulty. 

B. The Shared Ethernet Adapter in the Virtual I/O Server in the managed system has a problem and is not passing
communication between virtual adapters and the network. 

C. The routing table has been flushed on the host and the default route is no longer configured. 

D. DNS is disabled and the /etc/hosts file on the host does not contain the addresses for the hostnames that are being
pinged. 

Correct Answer: D 

 

QUESTION 5

An administrator saved a change to the active profile of an LPAR. When will the change take effect? 

A. Immediately after the profile is saved 

B. When the admin reboots the LPAR from within AIX 

C. When the Rebuild Managed System task completes 

D. When the LPAR is shutdown and the profile is activated from the HMC 

Correct Answer: D 
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